Topic Reminder : Enthalpy Calculations
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During the firing process of a pottery plate carbon monoxide of the burning wood reacts with

iron(l1l) oxide to produce iron(ll) oxide with amazing colors.
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1. Determine the enthalpy change (AH) for the r%ction above?
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2. Is the reactions exothermic or endothermic?
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3. (2 points) How much energy is involved if 10 g of Féo is produced?
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4. Which picture below would best describe the reaction above?
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5. How much energy is involved in the reactants of the reaction below. Use your bond

energy tables to determine.
2H; + 0, = 2H,0
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6. Would you expect the product bond energy to be || d/less) then the reactants?
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